4& Convert between celcius and fahrenheit

Answer the foolowing questions below and tick the correct answer from the list
44°F = °C (round your answer to the nearest tenth]
O 6ec O e66c O 67°c 0O 67
105°C = iE
O 189 189°F 21 O oorr
MN4rE = °C.(round your answer to the neareast tenth)
0O 4se6°c 0 456 0O 4sisec | [0 la555C |
98.6°F = °C |
| z7°c 0O 3 O z7F O esec
100°F = °C (round your answer to the nearest tenth)
37.7°C 37.8°C 87.77°C 37.8°F
9°C = EE
0O 842 O s42:c | O sacF O s42°F
212°C|= °H
0O wzeer 413 mzeec | O aizer
5Q°F| = %€
398.8°C 398.9°C 298°F Fa8°L
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Convert between celsius and fahrenheit )

Answer the following questions. Tick the correct answer from the list.
1. 44°F = °C (round your answer to the nearest tenth

O b6sc O bsecc | O 67c O b7

2. 105°C = “ .
O 189 189°F 21 M 221F
3. 14°F = °C.(round your answer to the neareast tenth)

4
M 456°C O luse O lussec O as5550C

4 98.6°F = m
OV z7°c O =z O s O ses°C
5. 100°F = °C (round your answer to the nearest tenth)
87.7°C i 37.8°C 87.77°C 37.8°F
6 29°C = E
0O 842 O s4apec O sasF S saxr
7 212°C|= °H
I m36°F ) a3 O wzec 0O mzer
8. 750°F = °C (round your answer to the nearest tenth)
398.8°C M, 398.9°C 398°F 398°C
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